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The Oompa-Loompas love to sing songs. They sang a song about Augustus.
Find three adjectives in The song that describe him,
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Explain The reason they would choose to describe him that way.
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Compare the attitude of Charlie with the other kids in the boat as
they are so different. Find 2 differences for each side.
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Explain the reason Everlasting Gobstoppers are so fantastic for less

fortunate children.
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When Willy Wonka takes the little grey strip, what is Mike Teavee's reaction?
Why do you think he reacted that way?
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The Oompa-L.oompas sang a song about Violet
Beauregarde. Why did they sing a song about her?
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Which door would be your favourite to try its candy? Explain your answer

Since the factory reopened, who do you think works at Mr. Wonka's
factory? Explain your answer.
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What is the title of chapter 237 Explain the meaning of the title.
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How is Veruca Salt’s attitude?

Do you think her parents influence her attitude?
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Explain your answer:

Explain the reasons the elevator is so dangerous. Name 3 reasons.
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Describe the Technology Willy Wonka has discovered.
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Do you think what happened to Mike was fair? Explain you answer:
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Find The climax and falling action of the story.
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Each child is now transformed. Describe their transformation.
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Who do you Think should have won the factory? Explain your answer.

Do you think Charlie’s life will now be befter than before?
Explain your answer:
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Find The resolution of the story,
ReSOLUAHAN [

Nesg

Did you enjoy Charlie and the Chocolate Factory. Justify your answer
with Three reasons.
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